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QUESTION 1

What two characteristics can be changed when using the CREATE TABLE AS (CTAS) statement to copy TableA to
TableB? (Choose two.) 

A. The views on TableA. 

B. The privileges on TableA. 

C. The distribution key of TableB. 

D. The materialized views on TableB. 

E. The order of the data stored in TableB. 

Correct Answer: CE 

 

QUESTION 2

What is the maximum number of databases that can be created? 

B. 12 

C. 31 

D. > 96 

Correct Answer: D 

 

QUESTION 3

Which will result in support for zonemaps on the LastName column? 

A. CREATE TABLE TableA (LastName VARCHAR(20)); 

B. CREATE TABLE TableA (LastName VARCHAR(20)); ALTER TABLE TableA ZONEMAP ON (LastName); 

C. CREATE TABLE TableA (LastName VARCHAR(20)) DISTRIBUTE ON (LastName); 

D. CREATE TABLE TableA (LastName VARCHAR(20)); CREATE MATERIALIZED VIEW ViewA AS SELECT * FROM
TableA ORDER BY LastName; 

Correct Answer: D 

 

QUESTION 4

Which statement is true about data flowing in/out of the PureData System for Analytics Appliance? 

A. Bypasses the host. 
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B. Flows through the host. 

C. Compressed on the host. 

D. Uncompressed on the host. 

Correct Answer: B 

 

QUESTION 5

What is the maximum number of columns you can choose as organizing keys for clustered base table? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: C 

 

QUESTION 6

Which piece of information is NOT gathered as part of the statistical information when generate statistics is run on a
table? 

A. The number of rows in the table. 

B. The number of updated rows in the table. 

C. The minimum and maximum value in each column. 

D. The number of unique or distinct values in each column. 

Correct Answer: B 

 

QUESTION 7

Which two commands can be used to shut the database system down? (Choose two.) 

A. nzstop 

B. nzdown 

C. nzhw stop 

D. nzsystem stop 

E. service halt nps 
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Correct Answer: AD 

 

QUESTION 8

You have created a group GroupA with JOB MAXIMUM of 4, which statement is true? 

A. No more than 4 users can be assigned to GroupA. 

B. If users in GroupA submit more than 4 queries they will fail. 

C. If users in GroupA submit more than 4 queries, then they will queue in order. 

D. The job maximum cannot be less than the default concurrent query limit of 48. 

Correct Answer: C 

 

QUESTION 9

When setting up a crontab entry, what must be done on a PureData System for Analytics server? 

A. Create an nzcron event. 

B. nzstop/nzstart the database. 

C. Stop and start the appliance. 

D. Add entry to active host and standby host. 

Correct Answer: D 

 

QUESTION 10

The query history data collected DOES NOT provide insight to which of the type of performance and behavior
questions? 

A. The typical or most common types of queries. 

B. The longest and shortest running queries on the system. 

C. The queries submitted by specific users or groups of users. 

D. The rotational speed of the disk drives during query execution. 

Correct Answer: D 

 

QUESTION 11

When are zonemaps initially created for a table? 
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A. nzbackup 

B. nzreclaim 

C. CREATE TABLE 

D. ALTER TABLE ADD ZONEMAPS 

Correct Answer: C 

 

QUESTION 12

Click on the exhibit. 

Given the following query: SELECT * FROM TableA, TableB WHERE TableA.c_custkey = TableB.o_custkey; What type
of join processing will occur when the query is executed? 

A. Collocation hash join processing 

B. Distributed hash join processing 

C. Broadcast sort merge join processing 

D. Replication sort merge join processing 

Correct Answer: A 
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QUESTION 13

Where are the database log files located? 

A. /var/log 

B. /usr/local 

C. /nz/kit/log 

D. The SYSTEM database 

Correct Answer: C 

 

QUESTION 14

When working with sequences, which statement will always be true? 

A. One-up numbers are generated. 

B. Integers (whole numbers) are generated. 

C. The first value generated is the number 1. 

D. The sequence number assigned will be unique across all tables and databases. 

Correct Answer: B 

 

QUESTION 15

Which is NOT a function of the Field Programmable Gate Arrays (FPGA) residing on the Netezza Database Accelerator
card? 

A. Projects 

B. Restricts 

C. Aggregates 

D. Decompresses 

Correct Answer: C 
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